XYZ,=96.42, 100.0 , 82.49

B,= 258, (b,~b,) Y

3= a5 [ (X=X ) /Y
by=tylz/y

=1, byy=-04

X, = 0,110, B, = 1,000
Crg=[AF+BA

6 OstwaldFarben (o)

von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
Lichtart D0, ¥,,=100 Y,=50
Name Bereich X, Y,  Z, X, Yy A, A
R, 570775 8072 70,07 4135 ‘0.42 03646 568 43D0
Y, 496_775 89.81 97.06 43.46 0.3899 0.4214573 468
G, 496570 57.4 77.09 43.43 03226 04332538 538c

C, 380570 64.05 80.07 82.51 0.2826 0.3532 491 598 Parameter:
B, 380_496 54.96 53,08 80.4 02916 0.2816 468 573 Y & Name
M, 570_496 87.37 73.05 80.43 0.3627 03033 538538 i
570,
W,,380_775 96.42 100.0 8249 0.3457 0.3585 100% Lichtart D50
N, 380_775 4821 500 4124 0.3457 0.3585 50% Y,,=100Q Y, =50

7, 380_7751735 180 1484 03457 0.3585 18%
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